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e Time Allowed: 20 Minutes. "

¢ Fill the answer sheet bubble al the appropriate space on

ot e~ sihrstach Aot i g he‘: on your answer sheet with Blue or Black Marker/Pen.
¢ Follow the instruction of the test controller and stop writing when you are told to do so.

e Mobile phones are not allowed In the examination venue.

¢ Test paper along with answer sheel must be returmed at the end of the test.

¢ All the questions are sell-explanatory. Do not ask lor any clarlification.
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Notw: Applzant Must I the above fields belore starting the paper.

3269

QNo. 1: QiNz: 2QNe: 3 QNo: 4 QNo: 5 (QUESTIONS FROM PASSAGE) All states, all powers, that have
{0ld and hoyldraie over men have been and are either republics or principalities. Principalities are either
hareditary, in which the family has been long established; or they are new. The new are either entirely
new, as wu. Milan 1 Francesco Sforza, or they are, as it were, members annexed to the hereditary state
of the prince who has acqu:red them, as was the kingdom of Naples to that of the King of Spain. Such
dominlosis thus acquired are either accustomed to live under a prince, or to live in freedom; and are

red elinor oy the arms of the prince himself, or of others, or else by fortune or by ability. QNo: 1. The

n power streams which rule the man are:-
A) Stales B)Kings C) Dominions D) Prince

QNo. 2: “Such dominions thus acquired are either accustomed to live under a prince” means
A) When A Princa Acquire A Dominion, Everybody Is Ready To Be His Slave

B) System Ol Dominion Is Used To Be Regulated By A Driving Force

C) People Like To Be Ruled By A Nice Prince.

D) None Ol Above

QNo. 3: If In a principality, family of the prince is not long established

A) Then It Is Hereditary
B) Then Il Is A Republic
C) Then It Is A New Principality

D) None Of Above

QONo. 4: As per author a republic

A) Can Be Heredilary

B) Cannol Be Hereditary
C) Both Of Above

D) None Of Above

QNo. 5: Which of the following statement Is true
A) Milan To Francesco Slorza Is Same As To Kingdom Of Naples To That Of The King Of Spain

B) Francesco Slorza Annexed Kingdom Of Naples
C) King Of Spain Annexed Milan With Naples

D) Al Of Above
E) Hone Ol Above

QNo. 6: Choose the correct option for striked phrase or senctence: In the fine print at the end of the
document lies the clauses-that make us llable- for-any-expenses that result from civil unrest.

A) Lies The Clauses That Make Us Liable For Any Expenses That
B) Lies The Clauses That Make Us Liable For Any Expenses Which
C) Lies The Clause That Make Us Liable For Any Expenses That
) Lie The Clauses That Makes Us Liable For Any Expenses Which
E) Lie The Clauses That Make Us Liable For Any Expenses That

ONo. 7: SYNONYMS: Lugubrious Is most similar in meaning to
A)Libelous B)Heavy C)Frequent D) Moumful E) Light-hearted
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A)Maize B)Rice C)Wheat D) None Of The Above
QNo. §: ANTONYMS. Enervating Is most nearly opposite in meaning to

: | " @No. 23: Which one of the following instrument is used to measure the relative humidity in the
A)kyic  B) Granose  C) Decorous D) Frustrating  E) Invigorating | atmos ohes 5
QMo. 9: ANTONYMS: Altected s most nearly opposite In meaning to

A) Mygenic  B) Mannered C)Happy D) Pretty  E) Simple 3; Sggroﬁmg:g
QNo. 10: ANTONYMS: Vainglorious is most nearly opposite In meaning to 8 Zg:;moa'g?ﬁgc"ggggzet
A) htrovented  B) Sardonic C) Ostentalious D) Humble  E) Consummate

QNo. 24: Global gene bark of Potato is located at ?
A) Coiumbia B)Florida C)CipPeru D) None Of The Above

QNo. 11: ANTONYMS: Disheveled ls most nearly opposite in meaning to
A) Cramgled  B) Angelic  C) Scatlered D) Fermented  E) Ordered

Qo tz:Mmmﬁopumlawmmum:Onconhurrlcamlaldonmlod.ltlo
”zmmuuamupbyunumusuuwms«vm..uumunumonmuw

A) A With The Names Of The Worst Hurricanes Omilted

1¥) Omating The Names Of The Worst Hurricanes

C) The Names Of The V/orst Hurricanes Being Omatted

D) Afler They Have Omitied The Names Of The Worst Hurricanes
£) Aher Omitting The Worst Hurmicane Names

GNo. 25: 'Which one I3 the main source of foreign exchange earnings?

A) Textie B) Foreign Remittances  C) Agriculture D) Manufacturing

QNo. 26: Cu'ilvation of same crop year after year is called
A) Sing'e Crcpping

B) Monoc.027ing

C) Doutide Cropping

D} A'l The nbove

?

QNo. 13: To get the promotion she wanted, Sanla_______ that it was best 1o go back to school to get her
masiers degree 8s s00n as she could.

QHNo. 27: How much of the total export earnings Is through agriculture?
A) Anticipated  B) Hindered  C) Augmented D) Resolved

A)45% B)55% C)65% D)75%
QMNo. 14: ANTONYMS: Obsireperous s most nearly opposite in meaning to
A)Pacd B)Swtbomn C)Raucous D) Fetridle E) Amicable

QNo. 28: The agriculture sé¢ctor of Pakistan generates % of employment.

= N30 B)405 C)420 D)435
QONo. 15: SYNONYMS: Pallistive ls most similar in meaning to |

, QNo. 29: How many crops seasons are in Pakistan?
A) Tyrannical B)Overt  C)Curative D) Festive E) Restve 1 A)2 B)3 C)4 D) NoneOf The Above.
QNo. 1:“?\00“ 0\:.0::.‘:‘ option for elriked ::"“ 701 senclence: The best ':V.‘“:h‘.“c““' ago ” QNo. 30: The sclerice of rearing honey bees for honey is known as————7
~ Innov Uhile MI 0 - °"‘.'“‘~."'-M' -~ idess, e oo Pg-ihe - A)Sericulture  B) Honey Culture  C) Apiculture D) Silvi Culture

) Bt To Enswe Thal The Person Who Makes The Suggestion Will Be Recetving Recogniticn For His

Contritation. _ | | | -
' C)&lmByEnwmoMTMPmmmwmmmesmmwm\.
,."' D) that Rather Enswe That mahker Recetves Recognition For His Contrioution.
£) Bt instead Make Sure That The Suggestion-maker Will Receive Hecognition.

QNo. 31: Global géne pool rice is maintained at —7
A) China B) lrri Philippines C) Mexico D) Norie Of The Above

} A) Bt To Enswre That The Person Making The Suggestion Recetves Recognition For His Contriputor;.

QNo. 32: Mating between distantly related Individuals Is known as?
A) Inbreeding  B) Out Breeding  C) Amphimixis D) All The Above
ONo. 17: SYNONYMS: Aspersion ls most similar in meaning to

A)Stone B)Bieath C)Slander D) Accolade  E) Vagary -

QNo. 33: Artificlal vegetative reproduction Is done by

A)Gralting  B) Budding  C) Layering D) All The Above
QMo. 18: SYNONYMS: Stringent Is most similar in meaning to

A)Demonic 8)Tough C)Tenwous D)lax E) Furous QNo. 34: Plants uptake their nutrients from-——-?

A)Air  B)Water C)Soil D) All The Above
ONo. 19: Even though the suditors ____ the accountant, his reputation was _____ by ths allegaticne ot '

trawd.. QNo. 35: Which one of the following is the largest sector of Pakistan's economy?
A) buis tend - Biorrwshed A)Banking  B) Industry  C) Agriculture D) Manufacturing

th) Betraywd - Hured

C) Croarend - Condonaa QNo. 36: Which are Pakistan's major seasons for agricultural crops?

) £ sonecated - Tamshed

A) Kharif And Barani

ONo 20 ANTONYMS. Zealous Is most nearty opposite in meaning lo B) Kharif And Rabi
A) Nohalad  B) browcatie  C) Mooy D) Trenchant ) Prudent C) Barani And Rabi

D) Kharil, Rabi And Barani
Qra 2 The cayygen corx ends stion in the alr lg—7

AXs s Qs D)%

QNo. 37: Narcotic crops mainly grown in Pakistan |s ?

A} Pyrettrun  B) Cocon  C) Tobacco D) None Of The Above
Gha I3 Proten contend in Darely |8 higher than——-7? '
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QNo. 8. Alr contalng————7

A) 70% Nirogen
1) 40 Nitrogen
C) 78% Ntrogen
D) None Of The Above

QNo. 39: The process of producing several identical coples of a gene sequence is referred to g

A) Gene Sequencing  B) Gene Cloning
C) Gene Sphiang D) Micro Cloning

ONMa. 40; Cabbage, caulifliower, broccoll, knol-knol are———7
A) Leaty Vegelalles
8) Solanaceous Vegelatdes

C) Fioral Vegetable
D) Cole Crop

QNo. 41: What means by lithosphere?

A) Rugid, Rocky Outer Layer Of Earth
B8) Water Surtace Of Earth

C) None Of These
D) Both Of These

ONo. 42: World War 1 began In:
A)1014 B)1915 C)1916 D) 1917

QNo. 43; Year of Independence ol Alghanistan:
A) 1009 B)1910 C)1920 D) 1939

ONo. 44: Which was the lirst alr force of the world?

A) Turkish Air Force

) Royal Air Force Of Great Britain
C) lsraell A Force

D) hakan Army Avialion

QNo. 45: Noble Prizes has beon awarded every year since:
A) 1851 B) 1801  C)1831 D) 1921

QNo. 46: What Is the name of first muslim austronaut?

A) Mugnn Bin Abdul Aziz
B) Muhammad Bin Salman
C) Muhammad Bin Nayel
D) Saiman Bin Abdul Aziz

QNo. 47: What is photometer?

A) Instrument For Testing Picture Quality

B) nstrument For Measuring Light Intensity

C) Instrument For Measunng Size Ot Picture
D) Instrument For Cheching Colors Of Pictures

QNo. 48: What Is the length of The Great China Wall?
A)SOO4Km B)6400Km C)7600 Km D) 8000 Km

QNo. 49: The Hanging Gardens of Babylon were built in:
A)400Bc 0)500Bc C)600Bc D) 7008Bc

ONo. 50: Pakistan officlally joined the United Nations (UN) on:

A) 20 September 1947
B) 25 Septomber 1047
C) 28 Septonder 1947
D) 30 September 1947

OMo. §1: The soap was made by first off all.

A) hazrat Ishaq (as)
B) Hazrat Salih (as)
C) Hazrat Lool (as)

D) Hazral Yaqoob (as)

QNo. 52: The biggest Islamic country with area Is

~? A)Egypt B) Kazakhstan C)Libya D) Sudan

QNo. 53: The first blography on the life of Holy Prophet (PBUH) Is by
A) Ibne Ishaq B) Ibn E Hisham  C) Al-zarqali D) Al-waqidi

QNo. 54: Amir Muawiya transferred his capital from Kufa to
A)Baghdad B)Damascus C)Makkah D) Madina

QNo. 55: Hazrat Sara (RA) the wife of Hazrat Ibrahim (AS) and the mother of Hazrat Ishaq (AS) was the

sister of Prophet

A) Hazrat Hood (as)
B) Hazrat Loot (as)

C) Hazrat Uzair (as)
D) Hazrat Ibrahim (as)

dNo. 56: When Maulana Muhammad Ali Johar issued Comrade Newspaper from kolkata?
A)14Jan 1910 B)14Jan 1212 C)14Jan 1911 D) 14 Jan 1913

QNo. 57: On 1988, Benazir Bhutto became the first woman Prime Minister of Pakistan.
A)4th April B) 18 June  C) 29 August D) 1st December

‘o QNo. 58: Karachl Steal Mills was established In
4 A)1973 B)1983 C)1985 D) 1989

'1} QNo. 59: In 1974, Pakistan became the Chairman of
" AlUno B)Who C)llo D)Oic

QNo. 60: USA President Bill Clinton arrived Pakistan In which year?
A)1998 B)2000 C)2002 D) 2004

QNo. 61: A farmer has 2 fields. If one field is twice the size of the other, and the smaller field Is 5 acres,
what is the total area of both fie'ds?

A)10Acres B)15Acres C)20Acres D)25 Acres

QNo. 62: A farmer has a rectangular field with a perimeter of 120 meters. If the length Is 40 meters, what Is
tha width of tho field?

A)20 Meters  B) 25 Meters  C) 30 Meters D) 35 Meters

g:!o& ga: i & farmer has a circular pond with a radius of 8 meters, what Is the approximate area of the
"

A) 64 Sq. Meters

8) 128 Sq. Meters

C) 460 Sq. Meters

D} 200 Sq. Meters

~QNa. 64: Farmer A fieid produces 10% more corn than Farmer B field. It Farmer B field produces 800
kllograms of corn, how inuch corn did Farmer A field produce?

A) 830 Kilograms  B) 900 Kilograms
C) 920 Kilograms D) 1000 Kilograms

UNo. G5: if the cost ot plowing one acre of land is Rs 30, how much will it cost to plow a field of 5 acres?
AJRS100 B)Rs120 C)Rs150 D) 180
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_ e

A) 750 Klograms
B8) 1000 Kidograms
C) 1500 Kiogram$
D’ 2000 Wm A) 18 Days B) 24 Days C) 30 Days D) 40 Days
i field lity of an Investment by
v icides s2 square meter, how much will it cost to treat a . ina Is 8 method used for evaluating the profitability
m‘zq. lmﬂr"c:::':f?W‘ e can 3,?;};,31{11?:‘::?2::: ?:tzotlt'\:?o':;%ates the present value of cash Inflows with the present value of outtiows?

A)Rs 1200 B)Rs 1600 C)Rs 2000 D) Rs 2400 AyNpv  B) It C)Cogs D) Rol

: ing price?
QNo. 82: If the COGS for a product is Rs 120, and the gross profit is Rs 80, what Is the sell
ONo. 68: if 8 a:& roq;:lrn 3 liters of water per square meter, how much water is needed lo irrigate a field A)Rs 160 B)Rs200 C)Rs240 D)Rs 280
of 500 square meters
A) 1000 Liters  B) 1200 Liters  C) 1500 Liters D) 1800 Liters QNo. 83: COGS (Cost of Goods Sold) is an essential component in calculating:
A) Net Income

hectares, he B) G Profit
ONo. 69: Farmer X sowed wheat in 2/5 of his field and rice in the remeining. If his field is 10 ICK c; O;)c;sr: ey S

many hectares are sown with rice? D) Relurn On Investment
A) 2 Hectares  B) 4 Hectares  C) 6 Hectares D) 8 Heclares
QNo. 84: The formula for calculating ROI Is:
QNo. 70: A farmer has 15 cows, and each cow produces an average of 20 liters of milk per day. How many A) (net Income / Initial Investment) * 100
liters of milk does the farmer get in a week? B) (gross Profit / Initial Investment) * 100

AR P)Z50Lkers  C)2400LMers D) 2600 Liers C) (net Income / Revenue) * 100
" D) (net Income / Cogs) * 100

QNo. 71: A farmer harvested 500 kilograms of wheat from his field. If each bag can hold 25 kliograms of
wheat, how many bags did he fili? QNo. 85: If the Initial Investment for a project Is Rs 50,000, the cash inflows are Rs 20,000 per year for fous

A)15Bags B)20Bags C)25Bags D) 30Bags years, and the discount rate is 10%, what Is the NPV?
A)-Rs 7,273 B)-Rs5000 C)Rs5000 D)Rs7.273

QNo. 72: A farmer divides his land Into equal parts for three dilferent crops: wheat, corn, and barley. li he

has 15 acres of land and allocates 5 acres to each crop, what percentage of the total land is used for | QNo. 85: A farmer took a loan ofRs 15,000 at an annual Interest rate of 8%. If the loan Is to be repaid In
barley? three equal Installments, what is the total interest paid?
A 10% B)20% C)25% D) 33.33% 2 A)Rs 1,000 B)Rs 1,200 C)Rs 1,500 D)Rs 1,800

QNo. 73: If a farmer needs to waler his crops every 3 days, how many times does he need to water them QNo. 87: What Is the formula for calculating Interest?

In a month? [ A) Principal * Rate * Time

A)8Times B)10Times C)12Times D) 15 Times B) Principal / Rate / Time
C) Psincipal + Rate + Time

QNo. 74: If the cost of fertilizing one acre of land is Rs 50, how much will it cost to fertilize a field of 8 D) Principal - Rate - Time

acres?

A)Rs200 B)Rs350 C)Rs400 D)Rs 450 QNo. 08: Which financiat ratio Indicates the proportion of revenue that exceeds the COGS?

A) Gross Profit Margin
ONo. 75: If a farmer has a rectangular field with a length of 50 meters and a width of 30 meters, what is the | B) Nat Profit Margin
total area of the field? = . | C)Operating Profit Margin

A) 1500 Sq. Meters D) Return On Investment (roi)

B) 1000 Sq. Melers
C) 2000 Sq. Meters
D) 2500 Sq. Melers

QNo. 89: In NPV analysis, if the calculated NPV is positive, it indicates:
A) Profitability B) Loss C) Break-even D) Liquidity

QNo. 76: If a tractor can plow 2 acres of land in 4 hours, how many acres can it plow in 8 hours?
A)dActes B)G6Acres C)BAcres D) 10Acres |

. QNo. 20: in financial terms, what does ROI stand for?

A) Return ©n Investment
Rate Of Interest

C) Revenue On Investment

QNo. 77: A farmer divides his land Into three equal parts. If the total area of the land Is 15 acres, what I$
| D) Risk Of Investment

the area of each part?

A)3Acres B)5Acres C)BAcres D) 10Acres .
~ QNo. 91: it tha selling price of a product Is Rs 150, and the COGS Is Rs 80, what Is the gross profit?
- A)Rs 70 ~B)Rs380 C)Rs150 D)Rs230

-~ QNo. 92. What Is the formula for caiculating Profit Margin?

: \
| g’ net Income / Revenue) * 100

otal Assets) * 100
©) (cogs / Revenue) * 100 )

t D) (Operaung Profit / Revenue) * 100

QNo. 78: A farmer harvested 600 bushels of apples. If each bushel contains 5 les
did the farmer harvest in total? ns 50 apples, how many appl

A) 25,000 Apples  B) 30.000 Apples |
C) 35,000 Apples D) 40,000 Apples 5

QNo. 79: Which of the following Is a prime number
A9 B2 C4 D)8

QNo. 93.
ONo. 80: If A and B together can complete a work in 18 days, A and C together in 12 days, and B and C A) N°el9:‘- ‘::‘::“ does NPV stand for in financlal terms ?
together in 9 days, then B alone can do the work in: Net Prgsen ?\';l;u
rage 8 e
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C) Non-pardorming Venhire
() New Project Valuation

ONo. 94: Which financial metric provides a measure of the efficiency of a companys use of its agsets In

generating profit?

A) Rol (return On Invesiment)
B) Roa (retum On Assels)

C) Roe (return On Equily)

D) I (imermal Rate Of Return)

ONo. 95: In financial terms, what does IRR represent?

A) Internal Revenue Rale
B) Internal Risk Ratio

C) intemal Rate Of Retumn
D) Interest Rale Revenue

QNo, 96: What Is the primary purpose of calculating the NPV of an Investiment?

A) To Assess Profitability

B) To Estimate Risk

C) To Determine Liquidity

D) To Evaluate Markel Share

ONo. 97: If the initial iInvestment for a project is Rs 80,000, and the discounted cash Iinflows are Rs 30 000
per year for three years, what Is the IRR?

A6% B)10% C)15% D)20%

QNo. 98: The formula for calculating Gross Prolit is:
A) Ravenue - Nel Income

B) Revenue -

C) Nel lncomoc-og)o!

D) Net Income / Cogs

QNo. ':?': i the COGS for a product Is Rs 50, and the selling price Is Rs 80, what is the gross profit
marg

A)20% B)30% C)40% D) 60%

QNo. 100: A farmer Invested Rs 10,000 in a new irrigation system. If the expected annual cash Inflow from
the system is Rs 2,500 for the next five years, and the discount rate is 8%, what is the NPV?

A)Rs 1,000 B)Rs 1500 C)Rs2000 D)ARs 2,500
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